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The Question paper consists of two sections.

2. Section A is compulsory.

4. Allempt any four questions from Section B.

! SECTION A
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L (a) List the major data structures used during assembly process. Explain the s
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of any one of them.

(b) Give disadvantages of a smgle pass assembler over two-pass assembler.  (2)
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(b) What is the difference between a compiler and an mt‘grpretel

Describe the languages denoted by the following regular expressions
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What do you mean by Intermediate code generation ? List various intermediate code
generation schemes.
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Generate the appropriate tokens, lexemes and attribute values for every toke!
can be generated for the following c++ code fragment :
if (x<y)
c=10;

else '
| (7
¢=20;

10. Consider the following context-free gra
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(1) A two-dimensional array of intcgers (i.e., an array of arrays) whose

(b)  Write type expressions for the following :

rows are indexed from 0 to 9 and whose columns are indexed from —10 to
N, V\_,

10.
?GYV\D-)'
. dlbegn —
(i) Functions whose domains are functions from integers to pointers to
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integers and whose ranges are records consisting of an integer an \
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character.

(a) Consider the following Syntax directed Definition :

PRODUCTION | SEMANTIC RULES ]
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F.val = digit.lezval ob‘a{i?* — "()
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(4)

Draw an annotated parse tree for the string: 9*6*7

with all activation record instances, including all the links, when

(b) Show the stack
w the stac o

execution reaches position 1 in the following skeletal program.
void f3()

{

void f2()
d

f3();> —(1)
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